
Dolly Kit UT-05048 - Dolly Kit P/N UT05048 (Part 1)



Ref # Part # Description Qty Context Note

49453 49453 Clamp Plate 2

86303 86303
Cotter Pin 3/32 x 1

1/8"
2 Standard fastener available at local suppliers.

A49452 A49452 Axle 1

841141 841141 Washer 5/8" 2 Standard fastener available at local suppliers.

49453 49453 U-Bolt 2

81053 81053 Hex Nut 1/4-20 4
Standard fastener available at local suppliers.

Included with "U" bolts.

83009 83009 Lock Washer 1/4" 4 Standard fastener available at local suppliers.

02595 02595 Clamp

Skid

80295 80295 Bolt 1/4-20 x 2 1/2" 4 Standard fastener available at local suppliers.

84006 84006 Flat Washer 1/4" 4 Standard fastener available at local suppliers.

82496 82496
Hex Head Screw

1/4-20 x 1"
2 Standard fastener available at local suppliers.

JA995715 JA 995715 Grip, Handle 2

49454 49454 Wheel 2

49450 49450 Tubing, Handle 2



Dolly Kit UT-05048 - Dolly Kit P/N UT05048 (Part 2)



Ref # Part # Description Qty Context Note

49453 49453 Clamp Plate 2 Included with "U" bolts.

86303 86303
Cotter Pin 3/32 x 1

1/8"
2

Standard fastener available at local
suppliers.

A49452 A49452 Axle 1

841141 841141 Washer 5/8" 2
Standard fastener available at local

suppliers.

49453 49453 U-Bolt 2

81053 81053 Hex Nut 1/4-20 4
Standard fastener available at local
suppliers. Included with "U" bolts.

83009 83009 Lock Washer 1/4" 4
Standard fastener available at local

suppliers.

02595 02595 Clamp

80295 80295 Bolt 1/4-20 x 2 1/2" 4
Standard fastener available at local

suppliers.

84006 84006 Flat Washer 1/4" 4
Standard fastener available at local

suppliers.

82496 82496
Hex Head Screw

1/4-20 x 1"
2

Standard fastener available at local
suppliers.

JA995715 JA 995715 Grip, Handle 2

49450 49450 Tubing, Handle 2


